Title: Community Development Block Grant Downtown Roadway Pavement Rehabilitation Phase 9 (P.W. 678-9)

Bids to be received by 2:00 p.m. August 16, 2022 Office of the City Clerk, City Hall, Antioch, CA

## SCHEDULE OF BID PRICES

	-			The State of the S	
Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
1.	1	LS	Mobilization, complete in place for the lump sum price	\$ 6,600 \$	16,600.00
2.	1	LS	Water pollution control, complete in place for the lump sum price		10000.
3.	1	LS	Traffic control, complete in place for the lump sum price	\$ 29,500, -	29,500.
4.	1	LS	Removal and relocation of existing facilities, complete in place for the lump sum price	\$15000.\$	15000.
5.	1	EA	Tree removal, complete in place for the unit price per each	\$ 4500. \$	
6.	600	LF	Concrete curb and gutter, complete in place for the unit price per linear foot	100. 82	75000.00
7.	400	SF	Concrete sidewalk, complete in place for the unit price per square foot	\$ 38. \$	15200.
8.	200	SF	Concrete driveway approach, complete in place for the unit price per square foot	\$ 45. <del>*</del> \$	9000.
9.	7	EA	Concrete curb ramp - Modified type B, complete in place for the unit price per each	\$ 11000. \$	77000.
10.	2	EA	Concrete curb ramp - Modified type F, complete in place for the unit price per each	5,000. \$12500. \$	10,000.
11.	600	SF	Concrete valley gutters, complete in place for the unit price per square foot	\$ 52 \$	31200.
12.	950	CY	Roadway excavation, complete in place for the unit price per cubic yard	\$\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	114000.
13.	15,000	SF	Stabilization fabric, complete in place for the unit price per square foot	\$ 0. \$	4500-
14.	15,000		Geogrid, complete in place for the unit price per square foot	\$ 0 . \$	4500?

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
15.	1,300	TN	Aggregate Base, complete in place for the unit price per ton	\$ 65.	\$ 84500.
16.	30,000	SF ·	Cold planing 4-inch full width of roadway, complete in place for the unit price per square foot	\$ 0.60	\$ 18000.
17.	30,000	SF	Engineered pavement mat, complete in place for the unit price per square foot	\$ 0.60	\$ 18000-
18.	1,100	TN	Asphalt concrete, complete in place for the unit price per ton	s 135.	\$ 148500
19.	1	LS	Thermoplastic traffic stripes, pavement markers and pavement markings, complete in place for the lump sum price	\$15000.	\$ 15000.

TOTAL BID PRICE \$ 685,000.

TOTAL BID PRICE: 5; x hundred Eighty Five thousand and zero cents (Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

Bob Rahebi President

REDGWICK CONSTRUCTION CO.

**Company Name Printed** 

#### LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1. ABSL construction	621781	1 000 002 818	Hayward	Grinding 1.5%.
2 Compass Engineering	868996	1000 603 328	Hayward	Striping 0.87.
3. Pacific Northwest	705296	10000377635	Stockton	Paving Fabric 1-6%.
4. Sporch Englishing	BR 08	BR 1000 005274	BR Liver-	Remove a Replace BR Cancello 297.
5. Al Trucking	N/K	1606711531	Bakland	Trucking 3.5%
6. FBD Vaneward	833032	1000008493	Livermore Auski BR	Concrete 24.6%
7.		· 4.		
8.				
9.				
10.				
11.			2	
12.			2	
13.		1		
14.				
15.				

**END LIST OF SUBCONTRACTORS** 

Title: Community Development Block Grant Downtown Roadway Pavement Rehabilitation Phase 9 (P.W. 678-9) Bids to be received by 2:00 p.m. August 16, 2022 Office of the City Clerk, City Hall, Antioch, CA

### SCHEDULE OF BID PRICES

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
1.	1	LS	Mobilization, complete in place for the lump sum price	\$53,000.	\$ 53,000
2.	1	LS	Water pollution control, complete in place for the lump sum price	\$4,200.	\$4,200.
3.	1	LS	Traffic control, complete in place for the lump sum price	\$20,000.	\$ 20,000.
4.	1	LS	Removal and relocation of existing facilities, complete in place for the lump sum price	\$10,500.	\$ 10,500.
5.	1	EA	Tree removal, complete in place for the unit price per each	\$ 7,000	\$7,000.
6.	600	LF	Concrete curb and gutter, complete in place for the unit price per linear foot	\$135	\$ 81,000.
7.	400	SF	Concrete sidewalk, complete in place for the unit price per square foot	\$ 34	\$13,600.
8.	200	SF	Concrete driveway approach, complete in place for the unit price per square foot	s 42. –	\$8,400.
9.	7	EA	Concrete curb ramp - Modified type B, complete in place for the unit price per each	\$9,800	\$68,600.
10.	2	EA	Concrete curb ramp - Modified type F, complete in place for the unit price per each	\$9,800.	\$19,600.
11.	600	SF	Concrete valley gutters, complete in place for the unit price per square foot	\$ 46	\$ 27,600.
12.	950	CY	Roadway excavation, complete in place for the unit price per cubic yard	\$ 118.7	\$112,100
13.	15,000	SF	Stabilization fabric, complete in place for the unit price per square foot	\$.40	\$ 6,000.
14.	15,000	SF	Geogrid, complete in place for the unit price per square foot	\$ .42	\$ 6,000. \$ 6,300.

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
15.	1,300	TN	Aggregate Base, complete in place for the unit price per ton	\$ 70	\$ 91,000.
16.	30,000	SF	Cold planing 4-inch full width of roadway, complete in place for the unit price per square foot	\$ .90	\$ 27,000.
17.	30,000	SF	Engineered pavement mat, complete in place for the unit price per square foot	\$ .45	\$ 13,500.
18.	1,100	TN	Asphalt concrete, complete in place for the unit price per ton	\$ 202.	\$ 222,200.
19.	1	LS	Thermoplastic traffic stripes, pavement markers and pavement markings, complete in place for the lump sum price	\$7,200.	· \$ 7,200
			TOTAL BID PRICE	\$798,8	300. –

TOTAL BID PRICE: Seven hundred ninety eight thousand eight hundred dollas.
(Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Lance A. Bushnell, Vice President of Estimating

Signature of Bidder

Ghilotti Bros., Inc.

Company Name Printed

#### LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

				T
NAME OF SUBCONTRACTOR	LICENSE NUMBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1. Reliable Tree 1. experts Inc.	1083768	1000844691	PO BOK 2376 Berkeley, CA 94702	Tree Removal 0.74%
Pale Horse 2. Asphalt Engintering	107-1011	1000708137	7000 Button In Dixonica 95620	Paving mat 1.73%
Compass Engineering Contractors Inc.	868996	1000003328	25056 viking st Hayword (A-94545	striping, 90%
4.			,	
5.				,
6.				
7.				, a
8.				
9.				
10.			0	
11.				
12.				
13.	`			
14.				
15.				

**END LIST OF SUBCONTRACTORS** 

Title: Community Development Block Grant Downtown Roadway Pavement Rehabilitation Phase 9 (P.W. 678-9) Bids to be received by 2:00 p.m. August 16, 2022 Office of the City Clerk, City Hall, Antioch, CA

## SCHEDULE OF BID PRICES

Item No.	Unit	Quantity	Description		Unit Price	Extended Amount
1.	1	LS	Mobilization, complete in place for the lump sum price	_\$	50,000	\$ 50,000
2.	1	LS	Water pollution control, complete in place for the lump sum price	\$	5,000	\$ 5,000
3.	1	LS	Traffic control, complete in place for the lump sum price	\$	35,000	\$ 35,000
4.	1	LS	Removal and relocation of existing facilities, complete in place for the lump sum price	\$	12,000	\$ 12,000
5.	1	EA	Tree removal, complete in place for the unit price per each	\$	7,760	\$ 7,560
6.	600	LF	Concrete curb and gutter, complete in place for the unit price per linear foot	\$		\$ 66,000
7.	400	SF	Concrete sidewalk, complete in place for the unit price per square foot	\$	35	\$ 14,000
8.	200	SF	Concrete driveway approach, complete in place for the unit price per square foot	\$	35	\$ 7,000
9.	7	ΕÁ	Concrete curb ramp - Modified type B, complete in place for the unit price per each	\$	8,500	\$ 59,500
10.	2	EA	Concrete curb ramp - Modified type F, complete in place for the unit price per each	\$	3,500	\$ 15,000
11.	600	SF	Concrete valley gutters, complete in place for the unit price per square foot	\$	35	\$ 21,000
12.	950	CY	Roadway excavation, complete in place for the unit price per cubic yard	\$	66	\$ 57,000
13.	15,000	SF	Stabilization fabric, complete in place for the unit price per square foot	\$	di Commissione	\$ 15,000
14.	15,000	SF	Geogrid, complete in place for the unit price per square foot	\$	Climan	\$ 15,000

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
15.	1,300	TN	Aggregate Base, complete in place for the unit price per ton	\$ 75	\$ 97,500
16,	30,000	SF	Cold planing 4-inch full width of roadway, complete in place for the unit price per square foot	\$ - Company	\$ 120,000
17.	30,000	SF	Engineered pavement mat, complete in place for the unit price per square foot	\$ Office Property Const.	\$ 30,606
18.	1,100	TN	Asphalt concrete, complete in place for the unit price per ton	\$ 220	\$ 242,000
19.	, 1	LS	Thermoplastic traffic stripes, pavement markers and pavement markings, complete in place for the lump sum price	\$ 8,650	\$ 8,650
			TOTAL BID PRICE	\$ 877,2	10.00

# TOTAL BID PRICE: <u>Light hundred Seventy-Seven thous and two hundred</u> ten (Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Patrick Madden
Signature of Bidder

Kerex Engineering, Inc.

**Company Name Printed** 

#### LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1 Pacific Coast Engineering	894723	1000003645	Pillsburg, (A.	Asphalt 100%
2. Compass Engineering	868996	100003328	Hayward, CA. Berkeley, CA.	Striping 00%
3. Religible Tyee experts	108 3768	1000844691	Berkeley, (A.	Tree Removal
4.				1
5.			1	
6,		-		~
7.	v			ÿ
8.		,		
9.	·			
10.				9
11.				
12.				,
13.		* ;		
14.				
15.			•	

**END LIST OF SUBCONTRACTORS**